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1. Your 1960 Mustang has been leaking oil and has left stains on your garage floor. You want to
paint your floor to cover up the stains. (a) What is the total square footage of the garage floor
which needs to be painted? (b) The paint you want to use only comes in full gallon sizes. If one
gallon of paint covers 75ft2, how many FULL gallons of paint will you need to paint TWO coats
on the garage floor? (c) If each gallon costs $22.94 what is the sub total cost of the paint? What is

the total cost?
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2. (a) Gina's family wants to install 1-foot-square terra cotta tiles in the entryway and kitchen, and 6-inch-
square blue tiles on each bathroom floor. The terra cotta tiles cost $5 each, and the bathroom tiles cost 45¢
each. How many of each kind will they need? What will the tiles cost before taxes? (b) Gina's family would
also like to install new carpeting in the living room and master bedroom. The carpeting costs $16 per square
yard and an extra $4 per square yard for padding. How much will the new carpeting cost Gina's family before
taxes? Round to nearest square yard.
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